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Al 120,000
= 148,960
01 Al&t| 823,920 0 823,920
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O&A A& A HI 800,000, 000& *2.99% 23,920
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= 560,000
Al 120,000
= 120,000
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= 80,000
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= 80,000
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odZaol & HII2 =HAt  80,000,000& 80,000
= 80,000
Aot ofellt & A 115,000 0 115,000
201 Let23y| 15,000 0 15,000
01 AtR2t2ldl 15,000 0 15,000
o gBr=2H| 15,000
OZ&I5totelLiat 15,000,000& 15,000
207 Al 100,000 0 100,000
01 =4l 100,000 0 100,000
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Al 20,000
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10 EALAHIZEA S 4,000 4,000 0
OFZYN &K =4 7,000 x20H x20 2,800
OHICHESIAIE Y el WwsEAT 2HaAl
4,000 x150H »23] 1,200
302 Ol=2 o2& = 33,680 42,075 A8,395
02 QIZICIMOHE A= 33,680 42,075 A 8,395
OFZYH Hd =1
350,000 10X «8 28,000
OXZYN s& =5
4203 %50 £ x10& 8L 5,680
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l:‘}\ X xH Cte| (3 }\ C‘}\ o HAEZ A} OH X‘—-IL‘EL‘:— 2JF
oget=Zl 5,040
Ox=tEEX 52 6,000 «70H x 128 5,040
Al 1,000
= 4,040
402 BI2HHE01& 12,000 11,040 960
Al 6,000
= 6,000
01 2ItX=Ex 12,000 11,040 960
oud ogo &
250,000 60 *80% 12,000
Al 6,000
= 6,000
LSE0d RFEZ FHIXA 90,000 0 90,000
= 45,000
Al 22,500
= 22,500
402 22t H=01S 90,000 0 90,000
= 45,000
Al 22,500
i 22,500
01 22 XG2EX 90,000 0 90,000
OlLsE0HH RFREZIHIXE
150,000,000 *60% 90,000
= 45,000
Al 22,500
= 22,500
HY2AZHI(FS4=40H) (IIEHDIE 82,620 71,142 11,478
QAR EH(F41) 3,000 3,000 0
eI 2| 3,000 3,000 0
203 ¥R =&l 3,000 3,000 0
04 BEN2SHRFL 3,000 3,000 0
ORAN2ZEYR = 250,000& «12& 3,000
Jl2a3d (40 79,620 68,142 11,478
Jl=&Hl 79,620 68,142 11,478
201 LEH2 | 28,020 17,742 10,278
01 AtE22/H] 28,020 17,742 10,278
Ogtt==H| 12,900
O &= 12,900,000& 12,900
o= gl 15,120
O=¢&tl 15,120,000& 15,120
202 (4Hl 51,600 50,400 1,200
01 WY 51,600 50,400 1,200
OZLHH I 43,200,000& 43,200
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